
BPVI-013 No. of Printed Pages : 6 

DIPLOMA IN DAIRY TECHNOLOGY (DDT) 
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00071 
	December, 2014 

BPVI-013 : MILK PROCESSING AND PACKAGING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry 

equal marks. 

1. Define any five of the following terms : 	5x2=10 

(a) Batch pasteurization 

(b) Toned milk 

(c) Recombined milk 

(d) Viscolised milk 

(e) Retail milk supply 

(0 Milk reception 

2. With the help of a neat flow diagram explain the 

HTST process of pasteurization. 	 10 
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3. (a) Calculate the quantities of buffalo milk 

(61% fat) and skim milk (01% fat) required 

to make 1000 litres of special milk 

containing 44% fat. Correct your answers 

to 2 decimal places. 	 6 

(b) During cream separation, what will be the 

% yield of skim milk if fat percentages in 

whole milk, cream and skim milk are 6%, 

55% and 04% respectively ? Correct your 

answer to 2 decimal places. 	 4 

4. What are the different types of milk collection 

systems ? How is milk transported ? 	6+4=10 

5. Describe the different equipments and methods 

for chilling of milk. 	 10 

6. Distinguish between : 	 5x2=10 

(a) Pasteurization and sterilization 

(b) Injection and infusion methods in UHT 
processing 

(c) Rotary and straight through can washing 

systems 

(d) Single use packaging and multi-use 

packaging 

(e) Plate and tubular heat exchanger 
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7. What are the steps involved in a cleaning 
process ? What are the qualities of a good 
detergent ? Explain the CIP process followed in 
a milk plant. 	 2+3+5=10 

8. Write short notes on any two of the following : 2x5=10 

(a) Determining efficiency of pasteurization 

(b) Importance of Bacillus Stearothermophilus 
in sterilization of milk 

(c) Aseptic packaging 

(d) Filtration and clarification of milk 
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